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TRy - T - A% - A5 P - ¥ & A CHAMm & T (A E M)
JE O
1 91, 672, 408
EELT
1 22,088, 180
HRi L (1CT)
1 2,418, 300
I (ICT) th A7 hy b BEEFEMEL 5, 000m3
el
3, 000 391. 4 1, 174, 200
RS +wp CEBE- ERRY L& Te)
(1) S5 PN3E
3, 000 414.7 1, 244, 100
HEENG e
1 902, 100
AR (Ft) ik 2. bmAi
150 6,014 902, 100
BT
1 665, 100
FRIRRE 1+ 2.5mAH ISR RC-40
1)
2 8, 520 17, 040
FRIRRE 1+ 2.5mAH  EEBEEIR  CS-40N
2)
20 9,730 194, 600
B+ 2.5mEL 4. OmAS;  BEBERIR  CS
~40N
(3)
20 4, 452 89, 040
FRIRRE 1 2. 5mATH  FERESK  CS—40N
(4)
10 9,730 97, 300
B+ 2.5mPk k4. omAT  FEBEEIR  CS
~40N
(5)
60 4, 452 267,120
B+ (ICT)
1 16, 644, 700
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
R A (1CT) amPl B ESEER RC-40
(1)
m3 1, 100 2, 754 3, 029, 400
R A (1CT) amPl b EESEE CS-40N
(2)
m3 500 3,959 1,979, 500
R A (1CT) amPl B FESEER RC-40
(3)
m3 2, 500 2, 754 6, 885, 000
R A (1CT) amPl b TFHEBESE CS-40N
(4)
m3 1, 200 3,959 4, 750, 800
R FEIE T (CT)
= 1 1, 457, 980
EiEFETE () 1350) (ICT) VIE - WD M OO+ R+
m2 20 813 16, 260
IR (B 150) (ICT) A [ D M6 L
m2 2, 800 514.9 1,441, 720
eI TN
= 1 2, 469, 588
AT
= 1 1, 645, 908
Fl Ay —) A= T (BEHESL)  1000m2LL -
m2 1,820 877.4 1, 596, 868
Fli Ay b WA=y b T 1000m28) |
m2 20 2, 452 49, 040
By By}
= 1 823, 680
BBy~
m2 640 1,287 823, 680
BEBE T
= 1 344, 515
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
E¥LT
= 1 23, 385
RIE T N
= 1 12,318
MR L R N
= 1 11, 067
LT FT HERE T (F &4 HAT)
= 1 321, 130
i ek Im% 8 % 2moA 18-8-25 (%)
m3 5 64, 226 321, 130
-7y FE (BR) 1
= 1 10, 033, 917
E¥LT
= 1 471, 870
RIE T N
= 1 287, 420
MR L +rE N
= 1 184, 450
VR VARSY RN EVZA R VAR DY Z 5=
= 1 9, 562, 047
BUGFT FetfE 2 ) ) -} 18-8-25(20) (= F) W/CHE 72 L
JEIE 52cm A& 30cm  1:0.4
(1)
m 117 8,318 973, 206
BUGFT FetfE 2 ) ) -} 18-8-25(20) (= 7)) W/CHEE 7 L
JEIE 55¢cm mE 35cm 1:0.5
(2)
m 36 9,949 358, 164
av))=h (%) 77 vy £z 35cm 1:0.4
(1)
m2 184 23, 689 4, 358, 776
av))=h (%) 77 vy £z 35cm 1:0.5
(2)
m2 107 24, 637 2, 636, 159
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
R3A - BEARY (Pef) FEfMA RC-40
m3 72 7, 468 537, 696
BUGHT Kb )y -} 18-8-25 (20) (F4F) W/CHEE 72 L
m3 10 58, 486 584, 860
I/ &R 18-8-25 (20) (FkF) W/CHEE 72 L
m3 3 25, 712 77,136
E=UEVZREY 18-8-25(20) (= %F)W/CHEE 72 L
a9 =M T B
m2 14 2,575 36, 050
Bkt 1
= 1 11, 041, 081
E¥LT
= 1 2,539, 310
RIE T N
= 1 1,211, 270
ML T N
= 1 1, 328, 040
Ll
= 1 1, 159, 581
7" VA NUBL I PU1-300-300-2000
m 129 8, 989 1, 159, 581
= 1 4, 910, 826
KRR Pt PR 200~400mm P (Po)—
D400
(1)
m 396 10, 742 4, 253, 832
KRR Paft PR 450~600mm P (Po)—
D500
(2)
m 39 16, 846 656, 994
Akt vvd-y T
= 1 2,431, 364
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TRy - T - A% - A5 MO LFENAL B G EHAm & E (GRS
BT HAE K HIFTHS 18-8-25(20) (&%) W/C
BEZR L BEfEEMER G2-50
(D 0-500-500
T 1 100, 134 100, 134
BT H R BT 18-8-25 (& HA) 1EiwITE
HAHIEME  63-S-800-800-1000
(2)
T 2 135, 759 271,518
BT H R BT 18-8-25 (&HA) 1EiwITE
HAHIEME  63-S-800-800-1200
(3)
T 9 150, 246 1, 352, 214
BT H R BT 18-8-25 (&HA) 1EiwITE
HAHIEME  63-S-800-800-1300
(4)
T 1 171, 203 171, 203
BT H R BT 18-8-25 (&4A) 1EiwITE
HAHIEME  63-S-800-800-1400
(5)
T 3 178, 765 536, 295
NSV UEL N
= 1 39, 488, 123
SRV ESE T
= 1 39, 488, 123
Iy SY(E=S S IR
= 1 39, 488, 123
HEE L
= 1 288, 877
Pk T
= 1 205, 187
KRR B P (Po) -D400
m 39 133.2 5,194
URAIE AR 25 PU-300-300
m 222 843.7 187, 301
SRk 800-800-1200
H 1 12, 692 12, 692
TEALER T
= 1 83, 690
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)

I av9Y)=hik (IE57)
(1)

m3 2 2,005 4,010
PRauRiiig ) -k (Bk)
(2)

m3 12 2,907 34, 884
ALy av9Y)=hik (JE57)
(1)

m3 2 1,902 3, 804
ALy ) -k (Bk)
(2)

m3 12 3,416 40, 992

Gan
= 1 5,918, 127
- F - B T

= 1 3,047, 884
D) EkL L SN

t 36.3 18, 805 682, 621
FrEXT/h-51Hk & 4X $12.7 L=21.0m
(1)

VN 5 122, 639 613, 195
FrzEXT/h-51Hk & 4X $12.7 L=20.5m
(2)

VN 2 119, 723 239, 446
FrzEXT/h-51Hk & 4X $12.7 L=18.5m
(3)

VN 7 100, 498 703, 486
FrEXT/h-51Hk & 4X $12.7 L=18.0m
(4)

VN 1 97, 765 97, 765
Fr=EXTh-51Hk & 4X $12.7 L=16.5m
(5)

VN 1 89, 574 89, 574
FrEXTh-51Hk & 4X $12.7 L=15.0m
(6)

VN 1 81, 428 81,428
FrEXT/h-51Hk & 4X $12.7 L=14.0m
(7)

VN 1 76, 007 76, 007
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
FrEXTh-5 14k & 4X $12.7 L=13.5m
(8)
VN 15 73,292 1, 099, 380
FrzEXTh-51Hk & 4X $12.7 L=12.0m
(9)
VN 1 65, 146 65, 146
FrEXT/h-51Hk & 2X ¢$12.7 L=10.0m
(10)
VN 14 45, 201 632, 814
FrEXT/h-51Hk & 2X $12.7 L=9.5m
(11)
VN 3 42,941 128, 823
AT T ~t—H1
t 36.3 -40, 270 -1, 461, 801
VESEY-D Hei T
= 1 1, 490, 592
+o 5 KEtoH Wk
Ees 220 709. 2 156, 024
B (L) R - 4. 0mPL |
m3 3, 200 221.1 707, 520
R (SR T Cadl- ERIRY L&)
(2) SY=> B
m3 270 2,101 567, 270
FEHA (-27) 1w 1550, 000m3 AT
m3 270 221.4 59, 778
RmE T
= 1 1, 379, 651
AW B
= 1 1, 379, 651
B TR
= 1 91, 672, 408
B SElTE
= 1 11, 355, 433
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B3 TS
= 1 2,014, 433
et By
= 1 1,102, 383
PR5FE B (ICT)
= 1 58, 218
VAT (ICT)
= 1 1, 044, 165
BGmEsET (K30
= 1 912, 050
HIBGERE (FE L)
= 1 9, 341, 000
Wi
= 1 103, 027, 841
B
= 1 32,413, 782
TG
= 1 135, 441, 623
— R
= 1 22, 258, 377
TS
= 1 157, 700, 000
THEBLFH Y %H
= 1 15, 770, 000
TH#&G
= 1 173, 470, 000
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